IBPS RRB PO Prelims 2022 Memory Based Paper

Directions (1-5): Study the following information carefully and answer the questions given below:

AT ST &7 &qTIa® STeqTT hi o0 ¥ A= (U T T 3 I &ora:

Eight persons sit around a square table and four of them face inside while four of them face outside. Four
persons sit at the corner and rest four sit at the edges of the table. O and N face each other. P sits 2nd to the

right of N. L sits just left Q who sits at corner of table. Q faces outside. M and Q are immediate neighbours

and face opposite direction to each other. P face opposite direction as R and S face. S does not sit just left of
P

TS SATh T ANTRIE HT & AT AT 96 3 AT ITH H AT HET Al AT I7G ¢ AT 3AH & AT I 00 AT
3@ g1 AT SATTH AT 6 i T ST AT AT A 61 qAT T 45 2

0 i N Us gAY #T 3 IqF &1 P, N & a3 & T T 92 927 81 L, Q 3 &1 a1 927 &, Q ST §5 & I 9T
3T g1 Q FTEL T AT I@ g | M 3% Q Mehead TSl § 3T U gAY & fAu<iq e &t siv 3+=q@ 21 P, R ¥
S T faodia e &t =i =@ 81°S, P & 31 914 7 927 gl

Q1. Who sits 4th left of L?

L % 913 | AT T 9 i 927 872
(a) P

(b)S

(@0

(dM

(e) None of these / ZH ¥ Fls gl

Q2. Who among the following persons face outside?

Referera § & F19-97 =7 a1 1 A 34T 22

(@AM, 0

(b)N, L

(cJR L

(dOo,P TEST SERIES

(e) None of these / T8 & FIE A2 BILINGUAL @
Q3. Who among the flowing are immediate neighbour of R?

ferforfera & & 9 R &1 Meeaw ==t 2 IBPS 2022
(@) P

(b) M RRB PO

©Ss MAINS

(d)Q

()0 50+ Total Tests | eBooks
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Q4. Which of the following statement is true?
et & & =19 a1 %99 97 82

L. P and Q sit diagonally opposite to each other
P 3T Q U gAY # favia: faadia 93 2l

IL. S does not face outside

S ATe #T AR ITHE L 2l

IIL. N and R are immediate neighbours

N 3T R Ay a2 2

(a) Both I and Il are true / I 3% I T 9T &1
(b) Only 111 is true / &=t I11 9T Bl

(c) Both Il and III are true / I i< Il T T g
(d) Both I and III are true / I i< 111 THT T g
(e) None is true / &g T T &l gl

Q5. What is the position of S with respect to M?
M F g § S T T F4T &7

(a) 2nd to the right / 21T & TAIT

(b) Immediate left / Ft aT0

(c) 2nd to the left / ITT & AT

(d) 3rd to the right / 3TT & &7

(e) None of these / TAH & &< gl

Directions (6-9): Study the following information carefully and answer the questions given below:

et ST FT eATga® g hIory oY A= &7 0 T o IqC JA 1970

R has 2 children of different gender. A is the brother-in-law of T who is unmarried. D is the cousin of M who
is granddaughter of R. B is the aunt of L who is the only daughter of K. Q is the mother of B. A is the spouse
of K. T is the aunt of L and have only one sibling. C is the son in law of R.

R % S-S Al 2 AT gl A, T HT qGL-39-A1 g, TS A dT=d &l D, M FT HoH &, M ST R T I e
g | B, LT e 8, L ST K&T Saha T o2t g1 Q, BHT At 81 A, KT Stra=areft g1 T, L T (e g, 3T ST shaol Uk
Tgia< gl C, R & A9-34-71 2

Q6. Who is the grandson of Q?

Q T d=aT &I 872

(a) M

(b)T

(9L

(d)D

(e) None of these /E’ﬁ T Fre T-|3°f
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Q7. How many females are in the family?
TRa # At Aigarg 82

(a) Four / 9T

(b) More than five / 9= & 3Tfar®

(c) Five / 9=

(d) Three / Tt

(e) None of these / TAH & FI Al

Q8. Who is the brother-in-law of A?
AT AT-ZA-AL H1T 82

(a)D

(b) L

()M

(d)C

(e) None of these / TH & s gl

Q9. Who is the mother-in-law of K?
K T HET-ZA-A1 HI &7

(@) Q

(b) B

()M

(d)T

(e) None of these / T7H & FI< 7l

Q10. How many pairs of letters are there in the word ‘REFRIGERATOR’, each of which have as many letters
between them in the word as they have in English alphabetical series (both forward and backward
direction)?

9153 ‘REFRIGERATOR’ ® ST&1<] & UH [ohael T30 &, TOTTH | Tci o o1= 3 gl ST&TL g Tord 1o SRIS{T JurHTeAT
HGAT (AN 3T I AT [rTa) 7 82

(a) One / T=

(b) Three / 9

(c) None / &< gl

(d) Two / =1

(e) More than four / 9TT & {Ter®

Directions (11-15): Study the following information carefully and answer the questions given below:

AT ST &7 &qIE® STeqd hi o0 ¥ A= QU T 3 3 I o

A certain number of persons sit in a linear row facing north. R sits 4th from one of the extreme ends. S sits
3rd to the left of R. One person sits between D and S. D sits 31 to the left of T. Two persons sit between T
and U who sits just left of B. More than one person sits between R and B. X sits 2nd to the left of L and is an
immediate neighbour of B.

AT T U AT Sear 3% Fi7 3T 3@ g U L qin | 927 g1 R Beft ue oifaw 2w & =) wae
T TST g1 S, R T3 F JTE T 9 927 g1 D 3T S & e Uk =A1<h 957 g1 D, T F a74 & T T 9T 937 2
T 3f% U % 7ex <7 =1=% 95 &, U ST B % 31 919 93T g1 R 3T B % W U & ik =AF 581 X, LF ard 7
T TIE 9T 927 ¢ 3T g B &7 [Mshedw TS 2l
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Q11. What is the possible minimum number of persons sit in the row?
GTF & I SARAT hl HATTAT ~IAqTH AT ohail gl Tl 872

(a) 17

(b) 18

(c) 14

(d) 13

(e) 12

Q12. How many persons sit between R and X?

R T X % W fohae =af<h 95 872
(a) Six/ =&

(b) Four / =TX

(c) More than seven / &Td & 37fer®
(d) Three / q1=

(e) One / T=

Q13. What is the position of D with respect to B?
B ¥ § D T TITH F4T 872

(a) 7t to the right / =TT & HTqAT

(b) 2nd to the right / 34 & &I

(c) Immediate left / 3% aTd

(d) 3 to the left / ST & FHT

(e) None of these / T7H & &l gl

Q14. The number of persons sit between S and T is same as the number of persons sit to the right of
(in case of minimum number of persons).

S T T o WA 95 ARRIT hl H&AT IqT ol &, fora«T % T[S AT 96 ATHRTT %0l T&AT | (FTHAT il LATH
TEAT % T H)|

(@) X

(b) B

(au

(dR

(e) L

Q15. Who among the following sits near to D?
fReferfea # & %19 D & e J21 82

(AU

(b) B

(R

(d)X

(e)S
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Directions (16-20): In each of the questions below are given some statements followed by some
conclusions. You have to take the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

= U T ST W ¥ T F9 3T I 918 1@ (MY QU U g1 AR (&7 T FAFT F A AIAAT &, T
o F g agl F {4 Ira g gl a9 ARt w7 ag e e 9 i & i o et § | a e oA
oFT ST T § 7T TN 601 T2aTg ohU &7 [0 0 Ho=T 7 qrieheh &9 F STTH HLar gl

Q16. Statements:
Some Rocks are Marble.
No Marble is Concrete.

FY:

Fg UF, ATEA

FIS HTEA, Fhle ol gl

Conclusions: / fAs=d:

I. Some Rock are concrete. / T T, Fahle gl
IL. No Rock is concrete. / FTs ¥, Fhie Aal gl
(a) If only conclusion I follows.

Tfe et AR [ SEr F3aT gl

(b) If only conclusion II follows.

Tf% e AR 11 e 3T 2l

(c) If either conclusion I or II follows.

TfE =T a1 Ao 137 11 ST 2T &l

(d) If neither conclusion I nor II follows.

T 7 a1 e 13 T &t 1 S8 &%ar gl

(e) If both conclusions I and II follow.

Tfe Aoy 1 8T 11 &1 ST Fd &

Q17. Statements:
Some City are not Town.
All Town are Metro.

g

T THET, 2189 Tl &l

asft 2139, "er Bl

Conclusions: / fAsFs:

I. Some City are Metro. / & [T, Hal 3
IL. All City being Metro is a possibility. / Tt [&rET & HT g9 i H9T1EAT 2
(a) If only conclusion I follows.

TfE et AR [ SEr F:3aT gl

(b) If only conclusion II follows.

T el Moy 11 0T FaT gl

(c) If either conclusion I or II follows.

T2 =7 a1 Ao 147 11 STE20r 2T gl

(d) If neither conclusion I nor II follows.

73 7 7 A 1377 7 21 11 18 F2aT &
(e) If both conclusions I and II follow.

T fewe 1 3T 11 AT S8 i |
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Q18. Statements: TEST SERIES
Only a few Fish are Turtle. BILINGUAL

All Turtle are Rabbit. VIDEO SOLUTIONS
EL LK

aﬁﬁ.ﬁﬁ?ﬂ,aﬁgl
i =&, ¥fae 8 IBPS PO 2022

Conclusions: fAtsy: PRELIMS + MAINS
I. Some Fish are not turtle. / F& fher, =2 951 &
IL No Turtle is Fish. / g @&, TheT A=l g

(a) If only conclusion I follows. 90+ Total Tests | eBooks
7T et AR [ FEor F:3aT gl

(b) If only conclusion II follows.

T el Moy 11 20T T gl

(c) If either conclusion I or II follows.

TfE =T a1 Ao 137 11 STE20T LT gl

(d) If neither conclusion I nor II follows.
7fa 7 7 A 1377 7 1 11 180T F2aT &l
(e) If both conclusions I and II follow.

7f3 w130 11 I ATE0 Fd &

Q19. Statements:
Some clouds are water:
Some waters are Star.

g

T FATIE, AT 5

T q1eT, T B

Conclusions: / Ay

I. Some cloud can never be star. / T FAT3E, FHT T Aal 2l dahd|
IL. All Could being water is a possibility. ¥t FIT3E, % FTeX ZIA I HATAAT g
(a) If only conclusion I follows.

Tfe et AR [ SEr F:3aT g

(b) If only conclusion II follows.

T2 el Moy 11 0T 2T gl

(c) If either conclusion I or II follows.

7t 77 7 AT 197 11 SIaeT 2T 2

(d) If neither conclusion I nor II follows.

I 7 a1 Ao 13T T & 1 S8 H:3am gl
(e) If both conclusions I and II follow.

T Aoy &l 11 ST ST a2 Fd &
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Q20. Statements:
Some earbuds are phone.
All phone are charger.

FIT: T TA0AE, B 8l

aft w1, AT B

Conclusions: / A

I All earbuds can be charger. / Tt TA7aSH, ATST B T 2|
IL. Some Phone are not charger. / & %I, AT gl g
(a) If only conclusion I follows.

I el Moy [ FTTHT F2aT gl

(b) If only conclusion II follows.

7% e Ao 11 SIgE=or 3T gl

(c) If either conclusion I or II follows.

7f3 77 7 AT 197 11 S a2 2T 2l

(d) If neither conclusion I nor II follows.

7fa 7 7 A 1377 7 1 11 T80T F2aT &l

(e) If both conclusions I and II follow.

Tfe AT 18l 11 ST ST 2 &

Q21. If in the given number “3852364718” 1 is added to the odd digits and 1 is subtracted from the even
digits then what will be the sum of the digits which are 3™ from the right end and 5t from the left end in
the number thus formed after rearrangement?

TfT <F T H=AT “3852364718” % 0w i § 1 S{IST SITAT & < 99 (i | & 1 F1AT ATdT 8,7 [TeaaedT &
are Al gt § e g 8§ S8 7 ar0 S 8 9= 3 F A A SR

(a) 15

(b) 13

(c) 16

(d)12

(e) 11

Directions (22-25): In these questions, relationship between different elements is shown in the
statements. The statements are followed by two conclusions. Give answer.

T TAT H, FAAT H BT Tl 6 1= el I ATIT ITIT 1 FIAT 6 I &7 (Fohy Q7 T | 3L <90

Q22.

Statements, &¥I:
A=B<P=QzT=>V=F<E
Conclusion / Terssd
l:v<B

I-FzA
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(a) If only conclusion I is true.
e Faer ey [ 97 2

(b) If only conclusion Il is true.
I e ey 1197 2

(c) If either conclusion I or Il is true.

T AT a7 AowT 13T 1197 2

(d) If neither conclusion I nor Il is true.

T 7 a1 Aewd [ T & 119 2

(e) If both conclusions I and II are true.

T ey [ i 11 M7 a7 2

Q23.
Statements / &

Xz]<L£B=K,M=Z<L=R
Conclusion / fassy

l:]<Z

II:R<K

(a) If only conclusion I is true.
i e ey [ 97 2

(b) If only conclusion Il is true.
Tfe Fae Aoy 1197 2

(c) If either conclusion I or Il is true.

Tfe 37 a7 e 137 15T 21

(d) If neither conclusion I nor Il is true.

T 7 a1 Ao 137 T & 1187 2

(e) If both conclusions I and II are true.

T ey [ 3T 11 M1 97 2

Q24.
Statements / &

S>TzV=0=D=A<P
Conclusion / o

A=V

nmo=p

(a) If only conclusion [ is true.
T et v | /e 21

(b) If only conclusion Il is true.
Tfe Fae Aoy 1197 2

(c) If either conclusion I or Il is true.

TfE =77 a1 Aewd 147 11 97 5l

(d) If neither conclusion I nor Il is true.

i T T Moy [ 3T 7 & 1197 2

(e) If both conclusions I and II are true.

T Aoy & [ 1 97 8
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Q25.

Statements / ST
Q>W=T<K<G=H
Conclusion / feisd

I: W<H

- K=0Q

(a) If only conclusion [ is true.
I e ey [ 97 2

(b) If only conclusion Il is true.
7% e Aoy 1197 g

(c) If either conclusion I or Il is true.

7T =7 a1 [Aewd 147 11 97 2l

(d) If neither conclusion I nor Il is true.

T 7 a1 Fewd 137 T & 1197 8

(e) If both conclusions I and II are true.

Tfe AR 1 302 11 4T 9T 8l

TEST SERIES
BILINGUAL @

IBPS 2022

RRB PO
MAINS

50+ Total Tests | eBooks

Directions (26-30): Study the following information carefully and answer the questions given below:

REfera ST T SATTIa® TEITT Al o1y SiiY A= &7 T 47 o I Qo1

Eight persons were born on two dates- 15t and 22nd of four different months i.e. September, October,

November and December in the same year.

Two persons were born between S and A. S was born on an even date in the month having even number of

days. The number of persons born before A is one less than the number of persons born after B. Q born just

before B and two persons after R. C born after D and before P.

TS ATRAT T TH Teh &1 AW 6 AT TAI-3T A A1 AT (e, TFeay, Taa7 e fega< it ar f[af=i- 15

3i¥ 22 7T el AT

S 3T A HeT IT SATRAT T ST7H g1 AT| S T ST#H TH [l il AT a7l Haid H TH a7 7 7 gam om A+
Tgol TP S ThAT i H&AT, B 3 dT& 70 SAT<hAl #l ST & TF HF gl Q &1 570 B & 3% 98«1 3< RF &I 918
STeH T SAT<RAT % T2 g3 g C T ST#H D % 1% 31X P & 928 ol &

Q26. Who among the following was born on 15t September?

feferfaa # & e S7 15 Rdaw 1 gam

(@A
(b) R
(D
(d)C
(e) None of these / T/ & &S A5l
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Q27. How many persons were born between R and P?
R 31T P % e Tohael SAThAT T STeH gall 917

(a) Six / FE

(b) Five / 9=

(c) Four /=TT

(d) Three /&=

(e) None / &1 &l

Q28. Four among the following five pairs are alike in a certain manner and related to a group, who among
the following does not belong to the group?

et o= T8 § § 97 us [ ol ¥ 9919 g & UF 99g § 96t9q g, Auteed § 9 ®ib9-97 39
qY & Ha1ad Ta! 87

(@S

(b)R

(c)B

(d)D

(e)Q

Q29. Which among the following statement is not true?
et & & 19 91 99 9 T8l 82
(a) R was born just before A

R T S+ A & 3T qgel gl AT

(b) C was born in December month

C T S{=H feHaT 71 § gar 47l

(c) A was born before P

A FT ST P & qg g3 AT

(d) Q and B born in the same month

Q 3T B &1 ST7H U &l Ha = § gal

(e) All are true

Tt 7T gl

Q30. The number of persons born before Q is same as the number of persons born after___.
Q ¥ Ugel ST= FRIT T HEAT % T3 SVH SATThAT sl H&AT & TH gl

(a)B

(b)S

(@C

(d)P

(e) None of these / T/ & &S A5l
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Directions (31-34): Study the following information carefully and answer the questions given below:

T ST &7 ST dE e ST hiTorT S A1 Q0 T T=AT 3 3L &[0

Pont A is 6m to the north of point H which is 8m to the east of point B. Point B is 5m to the north of point
F. Point E is 9m to the north of point D and 8m to the east of point F. Point G is 5m to the north of point J.
Point D is 4m to the east of point G.

Rz A, i H¥ 6 fex Tew & 2, Big U iz B 8 fiew 7f i 21 iz B, A F ¥ 5 few sv & 21 iz B, i
D ¥ 9wft 39T 3 i fifz £ 3% 6eft o # 21 iz G, g ) % 5o wew 3 31 g D, g G R 4 pH # 2

Q31. In which direction is point E with respect to point A?
Rifg A% aeasf ¥ g B Py o 22

(a) South / =feror

(b) North /3<¥

(c) North west / 39T Tf2HT

(d) South east / Zferor 43

(e) East /93

Q32. What is the shortest distance between point D and point J?
g D sfiw foig | & #ex =gaw g fraet 872

(a) V33m/+/33 "z

(b)V41m / V41 "=z

(c) 41m / 41 Hiex

(d) 35m / 35 HTex

(e) None of these / 78 & &5 Hélr

Q33. What is the total distance from point E to point J?
fifg E & fofg ] o or T el 27

(a) 23m / 23 Hiex

(b) 20m / 20 HTexX

(c) 18m / 18 HieX

(d) 25m / 25 H1exX

(e) 19m / 19 Hiex

Q34. Four among the following five pairs are alike in a certain manner and related to a group, which among
the following does not belong to the group?

M o= 901 § 8 91 U M3Ed Tl § 0 8 ¥ UF 94 § Gaed 5, Mafoad § § ®id-a1 39
q9g | 9afad Tgl 872

(a) A-F

(b) E-G

(c) D]
(d) B-D

(e) EJ
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Directions (35-39): Study the following information carefully and answer the questions given below:

T ST T ST dE e STeqa hiTorT S A1 Q0 T T=AT 3 3L &[0

Seven persons from A to G sit in a row such that all of them face north. Each of them likes different colour
- Black, Blue, Red, Pink, Green, Golden and White. All the information is not necessarily in the same order.
Two persons sit between E and the one who likes red. A is the only neighbour of the one who likes red. D
sits second to the left of E. The one who likes golden sits adjacent to D and sits second to the right of C.
More than three persons sit between C and F. B sits second to the left of the one who likes White. Three
persons sit between G and the one who likes blue. The one who likes black sits left to the one who likes
green and right to the one who likes pink.

A ¥ G TF ATT ATh UF Gk H T8 TR 950 & (6 o Tt 3T 60 AT 37T 21 STH & TATH Tl FoT-3T T
THE & - HTAT, AT, AT, AT, F, TS 3T Tha| TR Al (9 THT SATARIET 6T 77 | 2

E 3fI¥ ATl 397 q8E Fd a7 A< % TeF ¥ SAh 9 gl A, ATl 4T THE FL aTel T THATT G297y 81 D, EF
T THL T IT 93T gl I8 AT<h S Toed W7 T8 § dg D & 6 3T C F 23 | T ¥I1F 9T a7 81 C
3 F o 7T A1 & S{erh oM<k 95 g B, A& W1 T8 H a1 o a14 | gL €T 92 937 g1 G 3T Fer 47 06e
LA AT o Hed T ARG 9 81 g SAT<h (O78 FHTAT TN T6E § T8 < W &l THE FLeA ATl o d14 37T AT T
THE FIA qT o aTH 43T B

Q35. Who among the following likes pink?
fRrefertea # & g et 1 76e 22

(@C

(b)D

(c)B

(d)A

(e) None of these / ZH & #ile gl

Q36. Which among the following combination is correct?
fReferferd § & 9 |1 971 981 82

(a) C- Black / C — =TT

(b) A- White / A — %%

(c) E- Blue / E - =T

(d) A- Green / A — g1

(e) None is correct / T #T &l T5! &

BILINGUAL

17,

Special Offer

Q37. How many persons sit between F and B?

3i¥ B % A& o =af=e & 87
o ? IBPS CLERK 2022
(b) Two / =T PRELIMS
(c) None / &< 72t
(d) Three / &=
(e) More than three / &+ & Tfa® 60+TOTAL TESTS
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Q38. F likes which among the following colours?
F &t feforied § & 19 97 37 7698 2

(a) White / %%

(b) Blue / T

(c) Red / =TeT

(d) Either red or blue / 3T dT &7 AT AT

(e) None of these / TAH & FIs AG!

Q39. Which among the following statement(s) is/are true?

fArforfea ® & =i 91/ F99 97 8187
(a) Csits adjacent to D

C, D % 8w 937 8l

(b) E likes Black colour

E AT 1 6% FdT 8l

(c) One person sits between C and B
U <k C 3T B % AT 927 &

(d) F sits at the extreme end

F Sifqw &% 9% 937 2|

(e) All are true / Tsft 7 1

Q40. If we form a four-letter meaningful word by using the second, third, fifth and ninth letter

from the left end of the word ‘MICROPHONE’, then which of the following will be the fourth letter of the
meaningful word thus formed. If more than one word is formed mark Z as your answer. If no meaningful
word is formed, mark X as your answer?

7% 29 o158 ‘MICROPHONE’ & aTU ZI¥ | TAL, T4, T4 37 414 & FT STTRT Heh AT AL T T
9153 FATT &, AT (98 H F il AT TN 16 T AAT 3T FRIT| A(S U F SATH 9168 T g Al Z Tl (AT 3L
3| AT TS ATAF 975 A a9aT g, T X Al AT I &2

(@o

(b) 1

(@cC

(d) X

(e)Z

Directions (41-45): Find the wrong number in following number series.

Aot 9T s@ar § Tad |4eaT A1 S0l

Q41.118, 151, 217, 316, 445, 613, 811
(a) 613
(b) 445
(c) 151
(d) 811
(e) 316
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Q42.18, 21, 23, 28, 35, 46, 59
(a) 18
(b) 23
(c) 21
(d) 35
(e) 46

Q43.2, 3, 8, 27, 112, 560, 3396
(a) 3396

(b) 3

(c) 560

(d) 27

(e) 112

Q44.8, 72, 121, 157, 182, 196, 207
(a) 182

(b) 72

(c) 121

(d) 196

(e) 207

Q45.451, 502, 550, 604, 655, 706, 757
(a) 604
(b) 451
(c) 550
(d) 655
(e) 706

Directions (46-50): What approximate value should come in place of question mark (?) in following
questions?

frferfera wort & wert=eg (7) 3 T 9% SRTRT AT /I ST AT 0?

Q46. 64.98% of 479.99 - 7 +175.01 =350.01
(a) 125
(b) 129
(c) 137
(d) 147
(e) 153

(15.92)2

Q47. (4.01)’x 2= e
(a) 2

(b) 3

(c) 4

(d)1

(e) None of these
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83!2 3.99 x (7 +119.94) = (7.99)3 { s .CET R“dy

(b) 12

04 BANK

o MAHA PACK

Q49. —— +40.01 % of 249.99 = 108.09

()12 Live Class, Video Course,
(b) 8 Test Series, eBooks
(c) 15 Bilingual (with eBooks)
(d) 18

(e) 24

Q50. ? % of 1050.03 + 363.99 = (27.97)2
(a) 60
(b) 35
(c) 50
(d) 40
(e) 30

Directions (51-55): In each of these questions, two equation (I) and (II) are given. You have to solve both
the equations and give answer

TAH H TAF W § &7 FHie0r (1) &< (1) & 70 81 saeht a1 SHRC0T i gef FEAT g oY Sa¥ adT 8

Q51.Lx2+7x—98=0

ILy?2—y—42=0

(a) If/=fT x>y

(b) If/af= x2y

(c) If /== x<y

(d) If/TT= x<y

(e) If/7f x = y or no relation can be established between x and y/IT x 3T y & 19 FiIs Hael TTUT T
[ERIRSIRET IS

Q52.L12x2-7x+1=0

IL20y> -9y +1=0

(a) If/TTE x>y

(b) If/TT= x2y

(c) If /=TT x<y

(d) If /=TT x<y

(e) If/FT= x = y or no relation can be established between x and y/IT x 3T y % &= #ils qael TTAT Tl
TR ST FRaT 2

15 Adda247 | No. 1 APP for Banking & SSC Preparation
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com



https://www.adda247.com/product-onlineliveclasses/3937/bank-maha-pack-ibps-sbi-rrb

Q53.1.x2+13x-114=0 IL.y3=216

(a) If/TfE x>y

(b) If/=7fT x2y

(c) If/=7fT x<y

(d) If/=fT x<y

(e) If/af% x = y or no relation can be established between x and y/aT x ¥ y & 1= Fls Faer wAT70T AT
TR ST FeRar 2

Q54.L.x*-6x+8=0 ILy>+2y-8=0

(a) If /3= x>y

(b) If/=fT x2y

(c) If/=fe x<y

(d) If/=fT x<y

(e) If/FT x = y or no relation can be established between x and y/aT x 3T y % &= #ils Hael TTUT Tl
TR ST FRaT 2

Q55.L.x2—11x+30=0 I.y2 —13y+42=0

(a) If/TfE x>y

(b) If/7fT x2y

(c) If/7fT x<y

(d) If/=fT x<y

(e) If /=% x = y or no relation can be established between x and y/AT x T y F &= &< Taer w7 A1
TR ST FeRar 2

Directions (56-60): The line graph given below shows the production and demand (in tons) of items of
four different (A, B, C & D) manufacturing companies in 2019. Read the data carefully and answer the
questions.

== T 3T 3T S 2019 H AT ST [HH1ar F9i9at (A, B, C 3 D) &l F&gall & ScaTad $iie 9 (e
H) T IATAT §| T &l &ATHLAF T ST T & I S|

4500
4000
3500
3000
2500
2000
1500
1000
500
0

A B C D

—#—-Production (in ton) —®—Demand (in ton)
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Q56. If 80% total demand of company A and 20% of total demand of company B did not deliver at the last
moment, then find the difference between the items (in tons) did not deliver at the las time?

T FAAT A T T T HT 80% AT FAAT B T Tt F0T T 20% sitad 797 92 fFaqa 7 garm 2, a1 sifaw a9
o7 faa w8 T TS aEqel (27 §) & S1= H7 qL A1 Hiforg)

(a) 1100

(b) 900

(c) 700

(d) 800

(e) 1000

Q57. If non-demanded items of company C were handed to company D and it added these items them in
its demanded items, then find the new demanded items (in tons) of company D?

T AT C T AT Tgd a&qy, FHAAT D FT F1T < T2 g ST S 7 TEAT Dl AqAT TN 6l ST ATeAT Foq3l o
ST foam g1, a7 Fuet D Ay 72 7i Y S Areft awq (27 /) sra fifvm

(a) 5500

(b) 5000

(c) 6000

(d) 4500

(e) 3500

Q58. If production of items of company C increased by 30% in 2020 than previous year, then find the
difference between production of items of company C in 2020 and that in 2019.

7t foreer ad it gawT §, Fuet C & aeget & Scarad | 2020 ¥ 30% Fr iz g2 &1, a1 FuAT C % 2020 § g0
FEQ3 o6 AT 3T 2019 § EU ITATEA o &9 T AL AT I 917

(a) 750 ton/ 2T

(b) 1000 ton/ =

(c) 850 ton/ =

(d) 900 ton/ &

(e) 800 ton/ T

Q59. What is the ratio of sum of demand of items of company C and company D to production of items of
company B?

HAAT C ST FHOT D sl FEGAT 30T 7T o TN S FHAAT B il TEqA  SCATEA T SAJATd FT 872

(a) 37: 41

(b) 31: 23

(c)13:8

(d)9:4

(e) 13:9

17 Adda247 | No. 1 APP for Banking & SSC Preparation
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com




Q60. Sum of production of company A and C is what percentage more/less than demand of items of
company D?

FIAT A 3T C 3T a6 SCITE T TR, FHAAT D F aeqall ol 7T | Tohael STaera Aiaew/F:9 82

(a) 12.5%

(b) 37.5%

(c) 22.5%

(d) 40%

(e) 20%

Directions (61-63): There are three different hubs (IT, Food and Medical). Total number of employees in
IT hub are 800 and the ratio of male to female in IT hub is 2 : 3. In Medical hub total number of employees
are 1200. In Food hub total employees are 400 and the number of male and female employee working in
food hub are equal.

A AT g (ATSel, BT ST HISH) Bl el g H FHATAT il T 6eq1 800 g ¥ Mt g H &l
ST AIGATSN &1 AT 2:3 gl ARHA g H FHATAT =l Fer gedT 1200 g1 | 29 § T FHATT 400 § 79T
TS g9 § FH T a7l [2UT ST AigAT FHATRAT hl ST GH1 2|

Q61. The ratio of male to female in Medical hub is 7 : 5, then find total number of female in Medical hub?
ST g9 § TEUT 3T AIGATSN FT SAqATT 7:5 ¢, AT ASHe g H AIgaATsl il Fel HEAT AT I Tord|

(a) 720

(b) 500

(c) 700

(d) 400

(e) 800

Q62. Total male in IT hub are what percent more or less than total female in Food hub?
AEET g | T TRV, BE g § bl HigATH F oy wiera srfers =1 7 &7

(a) 50%

(b) 30%

(c) 20%

(d) 40%

(e) 60%

Q63. If total males in Medical hub is 50% more than total female in IT hub, then find the ratio of total male
in IT hub to total female in Medical hub?

7f% st g § ot T2, AT g | ot AIRATH ¥ 50% ATF g, a7 ST g § Fof [20l i Hiwher g §
T AIgATSAT T FLATT AT TS|

(@)3:5

(b)3:
(c1:
(d)2:
(e)2:

N ow W

18 Adda247 | No. 1 APP for Banking & SSC Preparation
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com




Q64. B alone can do a work in 15 days, while A, B & C together can do the same work in 5 days. If A alone
takes 8 days less than C to complete the same work, then in how many days C can complete 3/4 th of same
work?

B 3Tl Uah TH 1 15 AT & T har g, et A, B 3i¥ C e 3ot &1 &7 5 T & %7 T g1 T12 A 3Tehel
SEHT FT AT QT FA § CH 8 o w7 orar 8, 1 C SHT F1F 7 3/4 AT fohae f&A1 § 21 T Taha 1 87

(a) 15 days/fe=

(b) 20 days/fa=

() 24 days/fe=

(d) 18 days /fa=

(e) 16 days/fa=

Q65. A man invested Rs.12500 at 10% p.a. for two years on compound interest in a scheme. If total interest
received from the first scheme he invested into second scheme at 20% p.a. for two years on simple interest,

then find the total interest received by man from second scheme?

U STeh o T TISAT H Thg (g o411 92 &7 a9 & {70 10% Tid a9 &t a2 F 12500 T4 &7 e fram afg
TEAT ATSTAT & VT T SATST I ATLTIT ST I AT a9 o o7 20% ST a9 ol ¢ & g0 FroreT | e o,
AT AT TTSAT | TR T ATH FeT SATS] AT bl Tord?

(a) Rs./®. 3675

(b) Rs./%. 950

(c) Rs./®. 1020

(d) Rs./%. 1050

(e) Rs./%. 1080

Q66. A invested Rs.1600 and B invested Rs.2000 in a business. A invested for ‘t’ months and B invested for
(t + 3) months and A received Rs.400 out of total profit of Rs.1400, then find for how many months B
invested?

AT 1600 =0T FT fHaer 36T sfiT B 9 U =7a@™@ § 2000 €93 &7 Ferer Bram A 9 't 7t & forg fAaer e
ST BT (t+3) Aol & forw fHerer AT oiiT AT 1400 =99 & T 14 | & 400 =97 977 0, a1 B 7 fohas w1
¥ foro Raer A

(a) 10 months/Tgi=

(b) 5 months/ F&T

(c) 8 months/ eI«

(d) 9 months/ g

(e) 6 months/ AEIT

19 Adda247 | No. 1 APP for Banking & SSC Preparation
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com




Directions (67-71): The following table shows the total number of students in five different colleges and
percentage of Masters students in college.

A% gt o= seT-ere T FETeETadt § STl i T €EAT 3T AEIEaead § qIrETas Sl 6 e i
FLTT Bl
Note: Total students in any college = Students in Masters + Students in Bachelors

e forelt T AeTfaeneT § Fo S = TETaE § G + J@aE J 90

Colleges/ Total Students/ % of Masters
Hglidcarera el BT students/
WIelldeh SIET &l
%
A 1000 20%
B 1250 30%
C 1500 15%
D 850 14%
E 1400 37.5%

Q67. Find the difference between total bachelor students in A and D together to total bachelor students in
B and E together?

A ST D H UFHHTT T W 10 A< B ST E H THATT T W10 @TAA1 T Sq€ AT i o10?

(a) 118

(b) 219

(c) 231

(d)178

(e) 197

Q68. If the ratio of number of males to female bachelor students in college C is 7: 8, then find the number
of female bachelor students of college C is what percentage of total students of college C?

T2 FTE=Tad CH &9 |Ta STl 3T HigdT @1 ST hl G AT & AqITd 7:8 5, AT Hgraarad C il gigar
HTAH AT ol GE&AT Fgraarad C & FoA GIAT AT (ehadT Taerd 82
3329

3

(a)
2
48 =04

(b) 3

© 45 gﬂfﬁ
(d)

(e) 60%

1

53 ;%
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Q69. Find the average number of bachelor students in college A, B and E?
HRTE=TeT A, B 3% E | &Ta® ST o0l $iad FedT A1 hio[0?

(a) 850

(b) 860

(c) 840

(d) 890

(e) 865

Q70.1f 425% of Masters students of college D got scholarship, then find the number of Masters students of

college D who didn’t got scholarship?

?Jﬁﬂg'lﬁWD%élzg% TR ST &l BIAGIT (HAT g, AT AT a2 D o TETas STl i §&dT A1d
FfSm g s T2t e 82

(a) 63

(b) 71

(€) 56

(d) 78

(e) 68

Q71. Number of Masters students in college B and C together is what percentage more/less than that in
college A?

A=A B #li¥ C | UHHATT ATAR L STl #hl §edT Hgraanad AH fha qfaerd sfaw/#7 g7
(a) 100%

(b) 200%

(¢) 150%

(d) 50%

(e) 75%

Q72. A train can cross a 100 meters long platform in 12 seconds. If train crosses a bridge, which is double

of its length in 21 seconds, then find the speed (in m/s) of the train? TEST SERIES
T YRS 100 HieX & ehid &l 12 ¥he § I8 FT gl g e P 8Tl @

TERMET 21 Hohe | UH A &l I FLAL g, S S8l Aqars § IRET 8, T

TTET At i (H/AdE /) ST e

. IBPS 2022
(b)15 RRB PO
(c)18 MAINS

(d) 20

(e) 24

50+ Total Tests | eBooks
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Q73. A shopkeeper marked up the price of an article by 40% above cost price and he allows 25% discount
on marked price. If shopkeeper earns Rs. 420 as profit, then find his profit (in Rs.) when he allows discount
of 20% instead of 25%?

U THIFET Uk a6 T o7 77 o7 T 40% ATerh sifehd ear g i ag sifehd god 9% 25% il gz <aT gl If
TR ATH & & H 420 T FHTAT &, T IHHRT ATH (T H) 7T D10 99 a8 25% & a1 20% i Fe v
g7

(a) Rs/® 1204

(b) Rs/& 1240

(c) Rs/¥1180

(d) Rs/% 1008

(e) Rs/% 1080

Q74. In an election only two candidates participate and candidate ‘P’ got 50% less votes than ‘Q’. If Q got
200 votes less, then there would have been a tie. Find the total number of total votes polled?

U FATT H Fad &l SFHEATE AT ofd 3 oY SFaare 'P' &l 'Q' & 50% %+ #a f¥erd g1 IfT Q F 200 7 FH
e, AT STa<y 81 SATAT| STl T Fed 7l ol HEAT AT i Tor0?

(a) 800

(b) 2000

(c) 1600

(d) 1200

(e) 1400

Q75. The ratio of P’s age four years hence to Q’s age two years ago is 4 : 5 and the average of their age three
years ago was 23 years. Find the present age of P?

F A9 978 P AT 1 ¥ < a9 I8 Q T 31 AT AqITT 4:5 8 3T o1 a9 q& Seehl o HT Aeq 23 a9 =71 P
FT AAATT A AT I o10?

(a) 25 years/ad

(b) 29 years/ad

(c) 23 years/ad

(d) 33 years/aw

(e) 20 years/ad

Q76. The sum of area of a circle and area of a rectangle is equal to 2136 sq. cm. If the diameter of the circle
is 42 cm & the breath of the rectangle is 30 cm, then find the difference between the circumference of the
circle and the perimeter of the rectangle?

T I o &R A TF AT o A=A AT TRT 2136 3 GHT % TG 21AT gl AT I HT ATH 42 THT g 3T
AT AT ATSTS 30 FHT 2, AT I hF T ST AT o6 THTT o6 & 1= T AL FATT HhlTor7?

(a) 42 cm/FHY

(b) 22 cm/&HY

(c) 30 cm/&HY

(d) 11 con/EHT

(€)18 cm/THT
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Q77. Average of marks scored by Deepak in English, Hindi and Math is 70 and average marks scored by
Deepak in English and Math are 73. If marks of Deepak in Science are 25% more than his marks in Hindi,

then find average marks scored by Deepak in these four subjects?

SR GTT St Tt o< STTorq & 9TH fahi 7 feq 70 § 3 <19eh GIT S{USIT 3 07 § AT a1 1 offeq
73 2| 1< s <9 F ot Bat | IHeh sihl & 25% ATe &, AT 39 AT [A0AT § <190 FIT T 379 i
T Ffore?

(a) 76.5

(b)72.5

(c)71.5

(d) 75.5

(e) 78.5

Q78. A vessel contains 80 liters mixture of water and milk in the ratio 5 : 3 respectively. If 20 liters mixture
from the vessel is completely replaced with milk, then find ratio of milk to water in the final mixture in the

vessel?

U I § 80 F1aT ITHT 37T Z& T FA07 FHEM: 5:3 F AU | g1 TS Ta9 & 20 e Haor 7 T g ¥ g9
o T g7 SITar €, a7 Fa9 | sifaw fHeor § g9 3T 9 AT ST S it

(a) 17:15

(b) 5:4

(c) 3:2

(d) 11:7

(e) None of the above.

Q79. The speed of car A and car B is x km/hr. & (x + 20) km/ hr. respectively. If car A moves from P to Q
and car B moves from Q to P, then they meet in 5 hours. Car A takes 2 hr 15min more than car B to cover

distance between P and Q. Find the distance between P and Q?

FIT A ST 1T B #¥ Wi wwer: x FRei/=ar oii (x + 20) FRHT/5eT g1 7 1T A, P & Q #¥ 3i¥ 9=(d1 g 3T F1< B,
Q¥ P &l AT AN &, AT & 5 %e | fHAAT gl 1T A, P 3T Q & i+ i T a7 F3A § F1 B H 2 ¥er 15 e
Afersh oIt g1 P 3T Q & &= sl 3T AT hitoru?

(a) 800km/FFHT

(b) 720 km/fFdT

(c) 900 km/fFeT

(d)1080 km/fFHT

(e) 1260 km/fet
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Q80. Speed of a motor boat in still water is 18 kmph. If the motor boat JEEFIFEIIN{3
travels 90 km along the stream in 3 hours, then find the time taken by FESTFEFFIIFIE
the motor boat to cover the same distance against the stream? VIDEO SOLUTIONS

oo ST & Ua #iex e it i 18 fhel/=er 81 A Are e 3 H
LT % |1 90 FoRHT T ATAT FAT 8, AT WIe< ale T 91T & Faadqd

(a) 18 hours/= PRELIMS + MAINS
(b) 15 hours/=<

(c) 16 hours/=<
(d) 17 hours/si& 90+ Total Tests | eBooks

(e) 19 hours/=<
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